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1. DO NOT FLIP OPEN THIS FRONT COVER UNTIL YOUR PROCTOR TELLS YOU.
FEARMCEN BL% Z AR 7N > s A 2B PR LB T
FEARNE % E IR HT > 5 A ZERIT I -

2. This is a 25 question multiple choice test. For each question, only one answer choice is correct.
iR B2 E R ERE R AEE E U B IEREE R -
KR EUFESE RSN - EEH HA P IEEE -

3. Please circle the answer to each question as shown below with a pencil. If there is any change, use the eraser
to completely erase the previously circled answer.

RN F R PR 8 P SIS I P s B0 7 SR Y o B - IR R SE e R ORI 5% -
TR R H 0 A B T B PR o IAE R > 5 AR B S AR I ORI 2

(A) 1 (B) 2 @3 (D) 4 (E) 5

4. Every question is given a point value. You will receive full points for correct answer, and zero point for blank
or incorrect answer. The full score of this test is 100 points.

FHEE H AR ERE » B BN > 2 AFR00) o ARRBIEH# 7 7410053 ©
TR H AL BRI o B XA ) > B BAR05) o AR 23 910053 ©

5. Only scratch paper, graph paper, rulers, protractors, and erasers are allowed as aids. Calculators are NOT
allowed. No problems on the test reguire the use of a calculator.

FURERE P RARAR ~ B4R ~ R~ BAGTIS B TH « st AR AL AR o i3
AT AT o] I RE DA ZH 5 20l Pl 5w
FUREAE I BRRAR ~ 84K ~ R~ BAGAE B A0 TH  THE G SRra Y - Wi
ATATA il LA 2T 5 2t 7 S

6. Figures are not necessarily drawn to scale.
Vi J AN — e 4 A T
B A — et 22 ) -

7. You will have 60 minutes to complete the test once your proctor tells you to begin.
B Z R EA BAGTR > VR A 6053 S HY IR 1] 58 I -
W% B EAT TG > VRHA 607 BhE I i 58 i -

© 2024 Magic Square Association | 2y 5 &




2024 Hong Kong Mathematics Kangaroo Contest - Maternelle (Lower & Upper K)

‘ Part 1: 8 problems, 3 points each
#—%%: 8HEE, SE3H | 4% 8iEWE, HHE3 5

. Which number is inside the triangle, the square and the circle?
AR FRFAEZAK. E5H. B NIR?
AR AEZ AR EFH. HeR3R?

(A) 4 (B) 5 © 7 D) 9 (E) 10

[Proposed by China | ¥ B4 | J B4 |

. Observe the picture, how tall is the kangaroo?
BEBN, MERAA S 52

WERER, FERA S &?

B
§
B 4
5 3
& 2
3 1
2 0
1
- 8
A) 7 (B) 8 Q9 (D) 10 (E) 12

[Proposed by Iran | {7 4428 | 7 8444 |

2024 HFHBERABRE—YRE 1 2024 FRBFRASCF—HHRE



2024 Hong Kong Mathematics Kangaroo Contest - Maternelle (Lower & Upper K)

3. In the picture, there are 8 different faces. Each face appears twice, except for one. Which

face appears only once?
FH 8 ERAF IR R—EmI, FERRAERR K. MARKRAERT —K?

By A 8 RKRAR 6. R—iKIsh, HREAREIAH KR, FRRERHILT —K?
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[Proposed by Catalonia | #n &% R E4EM | ok ¥ R BAEMA |

G

4. Kevin the kangaroo puts a picture on the table. He rotates the picture through a quarter

turn, as shown. He then does the same rotation again. What does Kevin see now?

KR Kevinfe—kB HRER T L. BT, telE R %%, $HT MBI H. RER
ForkBATHRE 6 sedk, M Kevin 372 F 3] 69— ATk ?

N

KR Kevinfe—iKE H AR T L. WwEHT®, RFE &S, THRT NI . REt
FoRHATAR F) 89584k 9] Kevin LR 2] 6924 &2

~

> O1
MR
v O
O O b
(A) M (B) o O
\V/ JAN
(D) O (E) O <

2024 HARBERIHE SR

[Proposed by Russia | % % A48 | 4K F 4444 |

2024 FABFRACFR—HAHk




2024 Hong Kong Mathematics Kangaroo Contest - Maternelle (Lower & Upper K)

5. Bruno is making this large triangle using identical small triangular tiles. How many more

tiles does Bruno need to complete the large triangle?

Bruno F 48 F 69N = A miak g ki — B K= A% . M Bruno %% % VBRI L BHET
FEK= AW
Bruno AARR 69/ NZ AT Ert kMt —ANK= A, 5 Bruno &5 % % V3 £k 1 e BT
EAK=ZHFH?

A

(A) 3 (B) 4 Q5 (D) 6 (E) 7

[Proposed by Malaysia | % % o 2428 | &k 6 BALA |

6. Catrina wants to walk through the maze. She visits only rooms where the answer to the

sum is 7. Which object can Catrina reach?

Catrina B2 FBE T, R GRWEEA 7 65 M. B Catrina 7T A4 5| F 45 R 5 ?

Catrina B2 F 3K T, W R A7 KA LA 7 6%, 15 Catrina 7T L2 5| If4E 4 0§ ?

Cj 5+2 6+0 7+0 6+1

++ 4+

4+3 2+3 0+7 5+2 _J

. —~ \
(A) J (B) @ ©) / (D) D (E) O

[Proposed by Poland | % B #5R8 | & 2458

|

2024 HFHRHERBFE VR 3 2024 FHAEKFRRAER—YHE
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7. A kid has 4 blocks, as shown. Which of the following shapes cannot be made using these
4 blocks?

o B P, DIAAE 4 AR, MATAR— R R A A E 4 A AR
BB, DRAR 4 RBR B ATAR—ANE KRG R E 4 AR ARPEAR?

NaktaNaNe

(A) (B) @ (&) @ (D) % (E) @

[Proposed by Greece | A 42 | A 454 |

In a classroom, some pieces of paper are glued on a window. Each piece is completely

black or completely white. What does one see from outside?

BHER, A—RBRNBBATFE L. HRKAALZEYN, AEL2HEN. MIStaA,
Ae A BT R ARG B R

BEHEL, ﬁ*%é&ﬁ#ﬂi*&ﬁ%’ﬁi FRENREZEN, A 29EHN. PINSaE,
e A B A 2K B R

(A) E (B) m (&) E (D) a (E) E

[Proposed by Netherlands | #7 @448 | #7 2444 |

2024 HFAEBERARE YRR 4 2024 AR BFRERAER—HHRE
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(%-H4: EEE, SEAS | BB 9 EEE, GE4H)

9. Which square is cut into two different shapes?
B IE 75 T AR R T AR R 8] 8995 K 2

FRANIE 75 T A1 A% T TSR B B9 K2

@A) —— ®) -

Q) =

(D) ———— E) -
[Proposed by Switzerland | 2% :4:28 | 2% 44 |

10. One of the numbers in the picture is equal to the sum of the numbers connected directly
to it. Which number is this?

B A — B3, FARE AR SEEGF, MEEKE S VP
BehH— AN, FSTHCAEMENGE NI, FIZXNHEZL S V2

%

(12 (s
7

(A) 3 (B) 5 O 7 (D) 10 (E) 12

[Proposed by Turkey | £ A28 | £ F A% |

2024 HFHRHERBFE VR 5 2024 FHAEKFRRAER—YHE
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11. Which pencil is the longest?

AL 0 e
LIRS
A
| 1
B by
[ 11 |
(5
[ 1 1
D
| L1 1 |
E
HEREN
(4) A ®) B © C ®) D E) E

[Proposed by Myanmar | 4 &) B8 | 45 @) 454 |

12. The colored cubes are arranged as shown below. Which combination will be at the 10th

column?
HesHrEe TEAED. M F 10 324 2 RFE 4 42
BT H R TEHES . =M% 10 745 2 ARFF A 42

1 2 3 4 5 6 e

(A) (B) © (D) (E)

[Proposed by Myanmar | 45 @) B:28 | 40 @) 4541 |

2024 HFHBERABRE—YRE 6 2024 FRBFRASCF—HHRE
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13. In total, how many different triangles are there in the picture?
THRER S VEARRG= AT

By ERrH S SARRGZAL?

(A) 3 (B) 5 @ 9 (D) 10 (B) 11

[Proposed by Philippines | 3E4& & 44 |

14. Lizzy pays 7 dollars for 3 items. The cost of each item is different and is a whole number.

How much, in dollars, is the most expensive item?
Lizzy A7 LB 7 3 H B dhe MR SBORBAZ TR 69 3, MRFVHRLIELT?
Lizzy 1 7 U E T 3 H B dbo 4R B0 MAERRT R E 69 24, PR B su 2 ILT?

(A) 2 (B) 3 ©) 4 (D) 5 (E) 6

[Proposed by Nigeria | /& B #4448 | & B A B4 |

2024 HFAEBERARE YRR 7 2024 AR BFRERAER—HHRE
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15. Chiara has a transparent box containing 6 small cubes, as shown. What does Chiara see

if she looks at the box from above?

4o 8 prw, Chiara # —BEAET, 2@A 6 B/ 2758, 4R Chiara £ L7 FEEE
T, g AR

Jo B pr<, Chiara HF —ANEAETF, Z@A 6 o 354Kk, 4o Chiara N EF FHXANE
F, HAFINHL?

)
na.
-

(D)

(E)

[Proposed by Greece | A fi{/BtA | A 44 A2 |

16. Observe the shapes and digits below. What should the shape at the question mark look
like?

BETEOBELART, MRRYEYEZAERN?
EH

MR T @B F, N5 LGEEMIZLEAG?

ny

?

7

24

(A) (B)

e

(D) (E)

[Proposed by China | B 438 | & B4

2024 HFAEBERARE YRR 8 2024 AR BFRERAER—HHRE
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17. Esteban wants to pick two numbers from the board and add them together. How many

different results could Esteban get?
Esteban % 2% L& mE K, M CMmfk—A&, M Esteban #6472 5 V4 TR 6945 R?
Esteban M Z A L& # A%k, St EAM i —H . ] Esteban #6132 %V #h R 6945 R 2

1 2 3
4 S

ey —

(A) 4 (B) 5 Q) 6 (D) 7 (E) 8

[Proposed by Greece | A i #A | A 454 |

’M-::zl-;ﬁ SiHEEH, BESY | £=54: SEEA, ﬁ%ﬂ5ﬁ‘

18. Adam has been assigned to build the KANGAROO sign as shown on the Kanga Hill. It
will take one month to build each letter. Adam finished building the first letter in March.
When will he finish building all the letters?

Adam # 35 RAESB R L Ed#de B 99 KANGAROO #2%, SR & —HBFHE 22—
B H. Adam £Z= A 2R T % — 18 FH. MAEATIAE 59 T REL A 69 F 42

Adam #35 k2% Rob £ de B pF 7 49 KANGAROO #7&. H##F —ANF4F &2 —
ANAo Adam £=Z A TR T H—ANFH. FIHATI AL 2RI PTA 69 F 52

{lK”ANGAR OO

(A) August | NA | A (B) September | /UA | /LA
(O) October | +A | +A (D) November | +—H | +—A
(E) December | +=H | +=A

[Proposed by Malaysia | % s v E4ERE | 5k i AT |

2024 A H LB IBE YRR 9 2024 FHAEKFRRAER—YHE
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19. The picture has two groups of kangaroos. The numbers show how old each kangaroo is.
After a kangaroo jumps from one group to the other, the two groups have the same total

age. What is the age of the kangaroo that hopped over to the other group?

BERBAEARARR. RENHAIFERIOFR. ¥ —ERRAMK—4k5 5 —44%,
B PR B SFHEFME. F, kG @RI FHRZE V?
XRER EABEER. MEORAEFRBERGFS, S—REBERAMN—AWE 5 —05,
B PRI FHEFME. B, kG —ARIAGFHZE VP

A) 1 (B) 2 3 (D) 4 (E) 5

[Proposed by Greece | A 4 | A 454 |

20. 7 cards, numbered 1 to 7, are placed in 4 overlapping rings. The sum of the numbers in

each ring is 10. Which number is under the question mark?

H7%RHMNERL1B78FR, AELAIBIXNEB F. 8RB FEHGEF£ 10,
PUARA PSR A9 AR TR 1 & A AME 2

A7RINEA LT 9F R, HELAATIOAB . HAEE P &40 & A2 10,
B ARA F] 5 9 AR K R B R IR AR

A) 1

[Proposed by China | ¥ B4 | P B4 |

2024 HFAEBERARE YRR 10 2024 AHBFRRAER—HRE
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21. Which of the strips should be placed in the space in the picture so that each child is con-

nected to a different kite?
AR BELAB R PO GR, T ARSEIZLTAERES RE R E?
RN R BABR PTG, TEEANETFAREED RE M RE?

/
0

=] JT] J[SF

L—/P\
) L (B) © L

ol X o lasS

[Proposed by Catalonia | /&% & B4 | v ¥ R I |

22. The rabbit moves from one square to another if they have a common side. On his way to
the carrot, he has to pass squares 1, 2, 3, 4 and 5 in turn. In how many ways can the rabbit

reach the carrot?

RFTAR AT HABEINH LGNS —ETH. AT FEEE, LARREHZ
H1, 2,3, 4, 587, MATRANARIA Z VHERF GHEE?

BTFTAN—ANFTRABHIN A NLAG T —ANFHhe ATEHNRE |, LR KZITIR
A1, 2,3, 4 58 7#%. FIATRIAT A % VHTRE KK

1 2 3
4 3 4
3 4 5
4 4 5 p
(A) 3 (B) 4 @ o6 D) 7 (E) 8

[Proposed by Poland | 7% @428 | & 244 |

2024 HFAEBERARE YRR 11 2024 AHBFRRAER—HRE
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23. Abby, Bony, Cynthia, Daniel, and Egon are siblings. Abby and Egon are twins. Bony
is three years older than Daniel and two years older than Egon. Cynthia is four years

younger than Abby. How old is Cynthia if Bony is seven years old?

K EFL A 5 ¥h4k: Abby, Bony, Cynthia, Daniel, Egon. Abby #= Egon -2 # ft.}i4 . Bony
tk Daniel X = 3%, tt Egon X % . Cynthia tt Abby > % 4= & Bony 2 t 3%, Cynthia
R

K LA U F4 %% . Abby, Bony, Cynthia, Daniel, Egon. Abby #= Egon 2 St j& . Bony
tt Daniel X = %, tt Egon X # % . Cynthia tt Abby J»m %, 4= & Bony %t %, Cynthia
AJLE?

A) 1 (B) 2 ) 3 (D) 4 (E) 5

[Proposed by United States | % B4t | % 544

24. Here is a grid with 2 rows and 9 columns. Right now, all squares are white. If we paint
a square black, we need to also paint the neighboring squares gray. Neighboring squares
are the ones that touch it on the side or at a corner. What is the fewest number of squares

we need to paint black so that no square is left white?

BREA 247509 FI6 Tk k. e, FTR N THAEG E . o REMNE—ETHE
REE, RMEBFERAARCARG TR ERRE . B52, FMHERE TG ZREH N

G RALTBBEG LT, FM, ATHEIANITREIBERGE, ROV EZEZEMEH
#%?

XR—AE 247H29 FI6 bk IAe, FIA QI THARZE B, o REMNFE— N Tk
REE, BANEEZRFH L ARG TRERKRE. XL, MARNTHIEGLECHN
FARANLEREN LT e HF, ATEFHRGTREFRERAGE, RIS FEZRE
JUANTr #62

(A) 2 (B) 3 ©) 4 (D) 5 (E) 6

[Proposed by Catalonia | /o &2 R ARG | o de ¥ 2 RALAL |

2024 HFAEBERARE YRR 12 2024 AHBFRRAER—HRE
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25. In a regular dice, opposite faces always add up to 7 points. Bob is going to roll a regular
dice along the path shown by the arrow. The dice starts with a 4 on the top face. What

number of points will be on the top face when the dice finishes rolling along the path?

BAZENGRTFLE, A RE @SRRI E 7, Bob T L EFATHAI THRLEY
— AR F. LR TFOETRA 4B, 5B FLEERELRRENEF, TAH LM
A&

FAF RN T L, AT 5 AN im0 LA AL RAR AR 7. Bob 315 A& AT k38 R 09 AR IR
—AFRR T FUHBRTFOTEA 44N 5. SRTEARBETRAEIN, @ L5

HAIL?
.-"‘
® 1y, // l/
A 1 B) 2 © 3 (D) 4 (E) 5

[Proposed by Catalonia | #n %% & B8 | hn 5 % 6 LA |

2024 HFAEBERARE YRR 13 2024 AHBFRRAER—HRE



